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QUESTION 1

In the attached image you can see a double-rate meter (Dev. 1), controlled by a ripple control receiver (ARCR). One of
the registers in Dev. 1 has a relationship with a register in another meter (Dev. 2). Consumption in Dev. 2 is
automatically deducted from consumption in the main register in Dev. 1 during the billing run.

register relationship

of2[j4¥3]

What type of register relationship is described here?
A. Control relationship

B. On-peak/off-peak relationship

C. Serial switching relationship

D. Reactive/active relationship

Correct Answer: C

QUESTION 2
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A nonresidential tariff specifies that the delivery charge is calculated based on an hourly price.
Which master data object should be used to store the hourly prices?

A. Elementary profile

B. Synthetic profile

C. Fact group

D. Price key

Correct Answer: A

QUESTION 3

With which other components is the Industry Solution for Utilities directly integrated? (Choose three)
A. Time Management

B. Accounts Payable

C. Materials Management

D. Sales and Distribution

E. Business Intelligence

Correct Answer: CDE

QUESTION 4

On May 15, you try to process dunning for an account with an issue date of May 10.
Why does dunning fail to produce a result?

A. A dunning block which expired on May 13 was set on the contract account.

B. A dunning block which expired on May 13 was set on the business partner.

C. A dunning block which began on May 13 was set on the business partner.

D. A dunning block which began on May 13 was set on the contract account.

Correct Answer: A

QUESTION 5
How could you change the billing date for a single customer without adjusting the meter reading unit?

A. Change the schedule record.
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B. Change the alternative portion.
C. Change the portion.
D. Change the parameter record.

Correct Answer: B
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